;ﬁ ey
j J X =2
18
S a=3
1q
EA =
)
A y=)
14 ) f
1 ( 11 A
- g tet = J -
if) o(x+yst)= g to RCRE R
iv) ]@ (2)c | 7 T R
XY =21 o K52 (T (2)= 1372 &2
Kly:3 2 x>3
/’/3 X =3

42 o S

-1 Ztde+ 3L~ <~ 9
X/mm "3 R
2o 1

C) P( X:?ﬂ)’:?):}?()(:ﬁ {(:’()':f) =S ;({)Z/é Y - i%( 4 L:?o YLY(*\(IBQ&\\&
B 9 iz )Wv,.{,mb
2
Al v (x) >f(6ﬂ vI) ~E(x+y)” 37;:0/ ~/Z%>; oy 1.039s
1 32
2 )
Exty)=> > (“‘”Wg (%y) =2 2” %‘M Tiedy 1,5 6.t
21 7o X,Y . 1 6 q-
Z i}
(o)<7 2 |
oy )= L 20 (awf _ 349
PO 22, Gl g2

Cap4 Page 1



h.1)

for ol 22
@)
Py = @n(3Y) :O;\":; N ﬁ%
1 y 1
E(ﬂ)ij ﬁacy»&Aac(}f :S o - :,1_
o0 o | 2
gx :—i(g%‘y (o, 1y = &1 A :< (:ad ,'fff?
l ‘r@x () £m%: 1" l'(zi”
E(X):jjo;vc [, dz = jll—la:lc)ac - k{ lgcaj
| ]

- ‘ 511
B v dy ilyza\y: %v] ¥
¥ %0 { Yq’) (
E(Y") > Swz’ éYo\Y: SQ‘YSO‘Y:%T]O =5

G (xY) =E(xy)- B 0= 1

1 221 2
" 33T uTq "
C:m(K\Y): M) - E/,Z 4
JVovy) 1 7 %
1%
k) Vix]Y =v) F(x[Y=y)=
é = é"(‘{(k*ﬂ 2, ]
[y = = = 2
o @ By -

Cap4 Page 2

Gu(xy)= E[G-£0d (1-24)]

Ca(X,Y) = elxy) —g(x)E(Y)

F= § D‘é}gx) % 5 X 6)((1)
—%

V=3 (z\E(,g)Z@ B

oV
J%(l’ E(x)) éx (2)

VOB (XY (Y

1
)4
2 2,
SV(x1y=p)s LX<
2.
s
(o




foo ;
)(( )= j ny dy- I‘W[Y a(1-30)
% @

©
E(xy)= 1
0< Yy
(I} A 1\/ : (N(‘{)::Zy
U.s)
X~N( 3,0,90%) o) E(x+ay)= E(X)1+2E(Y) - 3,6 Cm
Yev !\/(0,330,000015) Come Q;\\Q “‘“"I‘/ﬁlfa

V(XH2Y) = V(x) +Y ((Y) = o, 0o tm

N

ﬂT) 2Y+XNN(3,"5‘°<%°5)

P(}(-\ly 73,51)__/]— P()(-)'YS ?(él)

1-P(z<o8m) =1- 0813201862

Cap4 Page 3



